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cGTo ;Dddf 
jf;nft

1 >f]t -1.1 b]lv 1.4 ;Dd_  4,349,299  3,967,785  2,969,036 
1.1 r'Qmf k"+hL  1,750,000  1,750,000  1,750,000 
1.2 hu]8f tyf sf]if   543,938  496,177  375,017 
1.3 hLjg aLdf sf]if  2,008,285  1,678,817  803,887 
1.4 dxf ljkQL hu]8f  47,076  42,791  40,132 
1.5 ltg{ af+sL bL3{sfnLg C0f tyf ;fk6L  -    -    -   
2 pkof]u -2.1 b]lv 2.6 ;Dd_  4,349,299  3,967,785  2,969,036 

2.1 l:y/ ;DklQ -v'b_  68,353  71,487  75,332 
2.2 bL3{sfnLg nufgL tyf shf{  3,826,538  3,508,258  2,300,714 
2.3 aLdfn]vsf] lwtf]df shf{  178,229  114,369  56,281 
2.4 v'b rfn' ;DklQ -3-4_  276,179  273,671  536,709 
2.5 ckn]vg jf ;dfof]hg x'g af+sL ljljw vr{  -    -    -   
2.6 gfkmf gf]S;fg lx;faaf6 ;f/]sf] gf]S;fg  -    -    -   

v'b rfn' ;DklQsf] ljj/0f
3 rfn' ;DklQ shf{ tyf k]ZsLx? -3.1 b]lv 3.3 ;Dd_  839,590  837,651  915,874 

3.1  gub tyf a}+s df}Hbft  56,389  229,832  114,289 
3.2  cNksfnLg nufgL tyf shf{  506,204  360,570  573,874 
3.3  cGo ;DklQ  276,997  247,249  227,711 
4 rfn' bfloTj tyf Joj:yfx? -4.1 b]lv 4.4 ;Dd_  563,411  563,980  379,165 

4.1  rfn' bfloTj  241,186  207,048  75,177 
4.2  c;dfKt hf]lvd jfkt Joj:yf  230,287  274,563  230,802 
4.3  e'QmfgL x'g af+sL bfjL jfkt Joj:yf  18,895  14,203  3,450 
4.4  cGo Joj:yf  73,043  68,166  69,736 

gfkmf gf]S;fg lx;fa
1 cfDbfgL -1.1 b]lv 1.5 ;Dd_  78,905  271,943  68,787 

1.1  cfo Joo lx;faaf6 ;f/]sf]  18,355  115,003  20,917 
1.2  hLjg aLdf sf]ifaf6 ;f/]sf]  -  -  - 
1.3  nufgL shf{ tyf cGoaf6 cfo  54,042  156,940  47,870 
1.4  Joj:yf lkmtf{  6,508  -  - 
1.5  cGo cfDbfgL  -  -  - 
2 Joj:yf tyf vr{x? -2.1 b]lv 2.8 ;Dd_  17,747  71,225  18,657 

2.1  Joj:yfkg vr{  10,952  46,662  9,851 
2.2  ckn]vg vr{  -  -  - 
2.3  cGo vr{x?  -  -  - 
2.4  gf]S;fgLsf] nfuL Joj:yf  -  2,261  3,236 
2.5  sd{rf/L cfjf; Joj:yf  -  -  - 
2.6  sd{rf/L af]g; Joj:yf  6,795  22,302  5,570 
2.7  ;dfof]lht cfos/  -  -  - 
2.8  hLjg aLdf sf]ifdf ;f/]sf]  -  -  - 
  v'b gfkmf÷-gf]S;fg_ -1-2_  61,158  200,718  50,130 

Plss[t cfo Joo lx;fa
1 cfo -1.1 b]lv 1.7 ;Dd_  954,597  2,366,928  578,160 

1.1  aLdfz'Ns -v'b_  608,673  1,925,746  333,521 
1.2  k'gaL{df sldzg cfo  -    -    -   
1.3  nufgL, shf{ tyf cGoaf6 cfo  52,728  174,250  25,093 
1.4  aLdfn]vsf] lwtf]df shf{af6 cfo  2,880  7,123  1,751 
1.5  cGo k|ToIf cfo  1,550  1,625  391 
1.6 o; jif{sf] z'?sf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf  14,203  805  805 
1.7 o; jif{sf] z'?sf] c;dfKt hf]]lvd jfkt Joj:yf   274,563  257,379  216,599 

2 Joo -2.1 b]lv 2.10 ;Dd_  586,548  1,207,951  400,573 
2.1  bfjL e'QmfgL -v'b_  114,580  110,298  10,556 
2.2  clestf{ sldzg  116,894  361,159  62,482 
2.3  :jf:Yo k/LIf0f z'Ns  2,069  8,515  1,288 
2.4  k'gaL{df sldzg vr{  -    -    -   
2.5  ;]jf z'Ns -v'b_  6,087  19,257  3,335 
2.6  cGo k|ToIf vr{  -    -    -   
2.7  Joj:yfkg vr{  98,564  419,956  88,660 
2.8  cfos/  -    -    -   
2.9 o; cjlwsf] cGTosf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf  18,067  14,203  3,450 
2.10 o; cjlwsf] cGTosf] c;dfKt hf]lvd jfkt Joj:yf  230,287  274,563  230,802 

3 jrt -1-2_  368,049  1,158,977  177,587 
3.1  hLjg aLdfsf]ifdf ;f/]sf]  349,694  1,043,974  156,670 
3.2  gfkmf gf]S;fg lx;fadf ;f/]sf]   18,355  115,003  20,917 

cGo ljj/0f
1  s'n aLdf z'Ns cfh{g /sd -xfn;Dd_  4,156,215  3,535,399  2,308,512 
2  s'n aLdf z'Ns cfh{g /sd -o; jif{_  620,816  1,968,365  339,427 
3  s'n sfod /x]sf] aLdfn]vsf] ;+Vof  130,446  124,682  104,915 
4  s'n hf/L aLdfn]vsf] ;+Vof  5,897  24,060  4,237 
5  3f]lift d'gfkmf -af]g;_ sf] b/ -k|lt xhf/_  35-70  35-70  35-70 
6  cGtl/d d'gfkmf -af]g;_ sf] b/ -k|lt xhf/_  35-70  35-70  35-70 
7  s'n bfjL e'QmfgL /sd  127,312  137,348  10,556 
8  s'n bfjL e'QmfgL ;+Vof  72  115  15 
9  e'QmfgL x'g af+sL bfjL /sd  21,635  24,903  4,450 
10  e'QmfgL x'g af+sL bfjL ;+Vof  61  37  7 


